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QUESTION 1

How many languages is the WebSphere Commerce tooling translated into by default? 

A. One 

B. Ten 

C. Thirteen 

D. Twenty four 

Correct Answer: C 

 

QUESTION 2

Gift Center can provide benefits to retailers. Which one of the following statement is NOT a benefit of using Gift Center? 

A. Improve customer satisfaction. 

B. Increase customer reach. 

C. Increase sales volume. 

D. Give more discounts to customers. 

Correct Answer: D 

 

 

QUESTION 3

Which arethe two algorithms used for searching a registry? 

A. Exact and Fuzzy 

B. Soundex and Prefix 

C. Keyword and Synonym 

D. Forward-lookup and Auto-suggestion 

Correct Answer: B 

 

QUESTION 4

Which version of Java is WebSphere Commerce v7 based on? 

A. WebSphereCommerce is always on the latest version of Java. 
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B. Java 1.5 

C. Java 1.6 

D. Java 1.7 

Correct Answer: C 

 

QUESTION 5

What kinds of gift registries are supported? 

A. Private 

B. Public 

C. Private and Public 

D. None of the above 

Correct Answer: C 
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